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QUESTION 1

Which of the following is not a disaster recovery manual restart configuration necessary to restore the production
system (Multiple choice.)

A. Stop the current production business

B. Add the remote device to the original production array

C. With the disaster recovery array as the master LUN and the original production array as the slave LUN, create the
remote replication relationship between the DR and the production end and wait for the initial synchronization to be
completed.

D. Make an incremental synchronization.

E. Delete the original production array consistency group.

Correct Answer: BE

QUESTION 2

As shown in the figure, the main features of this backup network mode are: (Multiple Choice)
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A. Backup tasks will consume a lot of LAN resources.

B. Backup tasks will consume few LAN resources.
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C. Backup tasks will consume a lot of CPU resources of the production system.
D. Backup tasks will consume few CPU resources of the production system.

Correct Answer: BD

QUESTION 3

Which of the following is the wrong mode of operation when checking on a problem with the VMFS datastore for
ESXi5.5 using the VMware ondisk metadata analyzer (VOMA)? (Assume the LUN NAA ID is
naa.60022a110009a8a800042e1800000000: 1).

A. Turn off the power of all running virtual machines or migrate these virtual machines to another data store

B. Use the esxcli storage vmfs extent list command to obtain the name and partition of the vmfs data store to be backed
up after the provision of number of the supported devices.

C. voma -m vmfs -f check -d /vmfs/devices/disks/naa.60022a110009a8a800042e1800000000:1
D. voma -m vmfs -f check -d naa.60022a110009a8a800042e1800000000: 1

Correct Answer: D

QUESTION 4

When you install the Simpana backup client on a virtual machine and perform a backup, the backup job status becomes
pending and reports an error message "Cannot decode packet header: invalid start signature ", which of the following
may be the cause of this problem?

A. VM NIC adapter error

B. The media server backup service is abnormal

C. The backup client service is abnormal

D. Virtual machine disk class behavior IDE

Correct Answer: D

QUESTION 5

Which of the following descriptions about the InfoEqualizer features of the OceanStor 9000 storage system are
incorrect. (Multiple Selections)

A. Dynamic domain name, which returns the dynamic IP address of the node for the client, supports the failover function
and is recommended for CIFS protocol sharing

B. Static domain name, which returns the domain name of the node\\'s static external IP address to clients, is
recommended for NFS protocol sharing

C. dynamic external IP address, node failure, the dynamic IP address can be automatically assigned to other working
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nodes, the client can pass again This IP address is connected to the OceanStor 9000
D. static external IP address, the node fails, the client can not access the oceanstor 9000 through the IP address

Correct Answer: AB
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